Foundations of Algebra Unit 4: Equations & Inequalities Notes

Day 3 - Solving Multi-Step Equations

Multi-step equations mean you might have to add, subtract, multiply, or divide all in one problem fo isolate the

variable. When solving multi-step equations, you are using inverse operations, which is fike doing PEMDAS in

reverse order or in other words “Don't Call Me After Midnight.” i

Guided Exomple 7(x 4) + 4x = -28 +2x !

Distribute: multiply term outside parentheses by what's inside ()/ 4) * 4y =- 286+ 2x ‘
Combine Like Terms: with the signs of the term Ix-28+4X=~-28*2X
Y
Move Variable: isolate variable with inverse operations [IX- 2.8 iL-' -28+ %
Add or Subtract: using properties of equality (inverse operations) - Zx- .
9K =28 F - 28
Multiply or Divide: using properties of equality (inverse operations) + 28 + 278
A 0
[Z]
Multi - Step Equations with the Bi_st‘rilltit_i!e Property X = 0]
Practice: Solve each equation, showing all steps, for each variable.
a.2(n+95) = -2 b. 4(2x-7)+5=-39 C. bx— (3x + 8)
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Multi - Step Equations with Combining Like Terms
Practice: Solve each equation, showing all steps, for each variable.
a.-5n+6n+15-3n=-3 b.3x+ 12x-20=25 C.-2x+4x-12=40
A AN W~ W v W v
- + 3 = - -
(-5n4len-3n)+)5= -3 (3x+124) =20 = 25 11+ 4o

e 15x - 20 § 25 ARl

"'}/6 +20 2—1 4 2_@
L fox 49 A 7
-7 M 19

= 9 x =3

1
L




Foundations of Algebra Unit 4: Equations & Inequalities Notes

Multi - Step Equations with Variables on Both Sides

Practice: Solve each equation, showing all steps, for each variable

o./sfa—14=ap+4 b.8x- 13§23~ 4 C.5x+34=-2(1 -7x)
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Error Analysis with Solving Equations

1. Rachel solved the following equation on her homework. However, she solved it incorrectly. Describe the
mistake Rachel made and what she should have done instead. Then resolve the equation to find the correct

27—y =4 ( answer. b‘)’h"bd’hh%
X ZUID e Ca)leg) =2y inctead o =2y
—10—2y=—4
I A
. ‘y=_5ﬂ Correction Solution: — 2 (’l—gj) + 4 = - 4
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2. Mikayla solved the following equation on her homework. However, she solved it incorrectly. Describe the

mistake Mikayla made and what she should have done instead. Then resolve the equation to find the correct
answer.
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Correction Solution: 4" ( y + g) - -m()
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